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Duration : 3 Hours

Instructions : 1. Answer Q. No. 9 and any five of the remaining questions.

Q. No. 1.

Q. No. 2.

Q. No. 3.

Q. No. 4.

2. Q. No. 9 carries 20 marks and remaining questions carry
16 marks each.

3. Answer should be written either in English or Kannada
completely.

1. 38 9 BB YUV CIRTTRRTR VT TINN eVBOAD.

2. ;3)% 9% 20 WOBRVT), VTHNET 3o 16 L20BNYTOZ,.
3. IBner Fpeor WITTTY,  INE WFwe AN,

NZORITD.

What is tax evasion and tax avoidance ? Discuss their effects

and methods of prevention. Marks :

Bort wowds &) 3on IR 0T ? QRS WO 08
BB030FOD amdﬁeéab “23FR.

What is ‘Previous Year ? Explain the exceptions to the rule

of previous year. Marks :

‘200 BRF’ 0T ? 200D DRFT aodado%d)d wdmcﬁﬁ@a’%
QBORD.

Explain any sixteen items of exempted income under Section 10

of Income Tax Act. Marks :

&R0l 301 Fooded oo 108 ©&R0HEO TOI[OWS Q0O
esvrTnjlmntateln) S@mdo ddmﬁﬁ@;ﬁab 23020,

What is ‘Annual Value’ ? State the deductions that are
allowed from the annual value in computing income from

house property. Marks :

‘T WIVY, 0BT ? STON0T WBIR RCRID VG OROTON
TOXFT a:‘@ejd 2063 VBB ﬁ@éﬁ%ﬁﬁa QWORD.
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- Q. No. 5.

Q. No. 6.

Q. No. 7.

Q. No. 8.

Q. No. 9.

What are the circumstances under which income of one ‘

person can be clubbed with income of another ? Explain. Marks : 16
IR CIRE ROTPFALY, 2y, oD STIRIRI), SR, FoD
STONTRB uwfm@,qu&dowdm DO,

Briefly explain the benefits of GST on business and

consumers. Marks : 16
asa“‘od 0D wPBson Aow daéa zezso 3ored tmwn’@eeﬁowdab

Noﬁwaaﬁ éi)ﬁ@m@

Explain the powers of customs officers. Marks : 16
R00TOTONG w@mdr{@é@t DTOAO.

Write short notes on any two of the following : Marks : 2x8=16
33 NI odnR)eEBR DTBE O £33 230D

(a) Casual Income
2003 ITBNS

(b) GST Council
ROB) @08y Rewogont worEY

(c) Import or Export by post.
20230 @W00003T SCIRB BB AOTRE3.

Solve any two of the following problems : Marks : 2x10=20
FPNT 0INR)TTTR T ﬁdmﬂﬁﬁeﬁ;’% VR :

(a) John, an American citizen, was appointed as a senior
scientific officer in India on 15t April 2006. On 31StJan. 2014
he went to Uganda on deputation for a period of 3 years,
but left his family in India. On 1t May 2015 he came to
India and took with him his family to Uganda on 30" June
2015. He returned to India and joined his original job on
2nd Feb. 2017. What would be his residential status for the
Assessment Year 2017-18 ?
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(b) Draw a format of taxable income from salary after due
deductions.
oﬁfaerg TRIX 0BT ROWSDOT WIS dddmdd&i& QP ORED
[ FRRTOY, WICD.

(c) Write a format determining the taxable income from other
sources. :
980 VPONPOD WONE [ORBRIDSY, JPFOFL AT
SRRINIY, wWIoWO.




